Scottish Enterprise Economic Impact Guidance


Standard Impact Question Set
	The question set given below should be used, as appropriate, in all appraisals and evaluations.  This will ensure that there is consistency in the way that impacts are assessed so that the results of both appraisals and evaluations are comparable.


Why is it important?
It is very important that the appraisals and evaluations SE undertakes use consistent approaches for assessing impact.  A key element in this consistency is the questions that are asked of beneficiaries.  Accordingly SE has developed a Standard Impact Question Set (Appendix 1) that is to be used in all appraisals and evaluations.

What does the Question Set Contain?
The question set is intended to identify:-

· The gross GVA and employment for a beneficiary;  
· Information that will enable the key additionality metrics to be calculated, that is deadweight, displacement and leakage so that it is possible to move from gross to net impacts; and

· Other related information on such things as the timing additionality, supply chain dynamics and the persistence of impacts that can be used when modelling impacts.
The questions generally are intended to be relevant to both forward looking appraisals and backward looking evaluations.  However, the wording may need to be changed depending upon the type of activity being evaluated.  This is noted in the preamble to each question.  It is also the case that the questions are intended to be asked of company beneficiaries. 
It should be noted that there are no questions on substitution.  As the Guidance Overview makes clear, not only is the evidence that this is generally very insignificant, but there are also difficulties in identifying it with any degree of precision.  Accordingly it has been omitted and is assumed to be zero.
It may also be the case that the questions can be omitted, modified or added to in particular situations.  For example:-

· If company accounts and forecasts are available then these should be used to calculate GVA rather than asking beneficiaries for financial information;  

· The particular circumstances of an appraisal or evaluation may mean that certain sections of the Question Set may not be relevant so that there is justification for omitting them, albeit that this should be confirmed with SE’s Appraisal and Evaluation Team; and
· Invariably other questions will be added that explore outputs and outcomes. These are likely to be specific to individual evaluations and have not therefore been covered in the questions here.
Some of the questions may seem repetitive.  The reason for this is that they are structured in such a way as to try to focus interviewees upon the topic being discussed, thus, the initial question is qualitative.  This is then followed by a quantitative question which is attempting to elicit a more precise response.  It may, however, not always be possible for interviewees to provide such a degree of precision.  In such cases the qualitative responses should be used.
Displacement

The displacement question is an attempt to assess the extent to which SE’s support may result in market share being taken from other Scottish-based businesses.  Two sets of questions are asked:-

· The first is a qualitative question asking interviewees where their competitors are based, followed by a more precise quantitative question.  If it is not possible to get an answer to this question then a proxy value should be used to calculate displacment, as shown in Table 1.  In using this it should be clear that, for example, a Proxy Displacement Value of 0.25 implies that displacement is 75%; and
TABLE 1


Proxy Displacement Values
Survey Questions





Proxy Displacement










Value
All the businesses I compete with are based in Scotland


0.00


The majority of the businesses I compete with are based in Scotland

0.25


Around half of the businesses I compete with are based in Scotland

0.50


A minority of the businesses I compete with are based in Scotland

0.75


None of the businesses I compete with are based in Scotland


1.00


I have no direct competitors





1.00
· There is then a question about market conditions.  The assumption is that if a market is growing then, even if the majority of a company’s competitors are based in Scotland, displacement may be more limited than if the market were either static or declining.  Table 2 shows the market condition displacment weighting factors.

TABLE 2


Market Condition Displacement Weighting
Survey Questions





Displacement Weighting









Factor
Declined strongly







0.50
Declined moderately






0.75

Are about the same






1.00


Improved moderately






1.25


Improved strongly







1.50
 
To illustrate the way that these two factors should be used, if we consider a company that indicated that:-
· The majority of its competitors were in Scotland.  Table 1 shows this would result in a displacement factor of 0.25; and

· Market conditions were improving moderately, a weighting adjustment of 1.25 (Table 2); and
· Then the displacement factor, as a percentage, would be;-

(1 - (0.25 x 1.25)) X 100 = 69%
This is the approach used in the 2013 evaluation of account management
. If however an interviewee is able to give a precise response to the question as to the proportion of competitors based in Scotland then this value should be used in the calculation. This report also includes (in Appendix B) the telephone survey questionnaire.
Need more help?
For further information contact:-
Suzanne Fleming, 0141-228-2062
Suzanne.fleming@scotent.co.uk
APPENDIX 1 


Standard Question Set
Gross Value Added

The responses to this question should enable the Gross Value Added of the company to be calculated.  The question is suitable for both appraisal and evaluation purposes with the timescale for which responses are sought being adjusted accordingly.
Please supply the following information for your Company’s Scottish operations.

	
	Turnover
	Operating Profit1
	Employee Costs2
	Depreciation3, 4

	Year x
	
	
	
	

	Year x+1
	
	
	
	

	Year x+2
	
	
	
	

	Year X=3
	
	
	
	

	Year X+4
	
	
	
	


Notes:-

1. Operating profit is turnover minus the cost of sales, employee cosst depreciation and other overheads. See Footnote 2 in the Gross Value Added information sheet.
2. Employee costs should be the total costs to the company of employing staff. The cosst should therefore incklude national Insurance and pension cosst as well as gross salary. See footnote 3 in the Gross Value Added information sheet.

3. It should be noted that operating profit and employee costs are “must haves” in order to calculate GVA. If depreciation figures are not available then this should not stop a calculation being made, given that depreciation will usually be far smaller than the other two factors.

4. Amortisation should ideally be included. However, as it is generally either negligible or very small it has been omitted for simplicity.

Employment
The responses to this question will identify the employment levels of the company over time.  The question is suitable for both appraisal and evaluation purposes with the timescale for which responses are sought being adjusted accordingly.
What was the employment of your company in Scotland in Full Time Equivalents in the following years?

	Year
	Employment

	Year x
	

	Year x+1
	

	Year x+2
	

	Year X=3
	

	Year X+4
	


Note:-

1. See the Employment information sheet for a definition of Full Time Equivalent jobs.

Deadweight

The responses to these two questions will enable an initial assessment to be made as to the extent of the impact of SE’s interventions on company turnover and employment.  The questions are suitable for both appraisals and evaluations with suitable adjustments to the timescale and to the text.
What do you forecast the turnover of your business activities in Scotland will be over the last/next 5 years?
· With SE’s support; and

· Without SE’s support.

 

Turnover with SE’s 



Turnover without

support

 

 

SE’s support




Year X

     

 FORMTEXT 
     

 FORMTEXT 
     
`


     

 FORMTEXT 
     

 FORMTEXT 
     
`

Year x+1
     

 FORMTEXT 
     

 FORMTEXT 
     



     

 FORMTEXT 
     

 FORMTEXT 
     


Year X+2
     

 FORMTEXT 
     

 FORMTEXT 
     



     

 FORMTEXT 
     

 FORMTEXT 
     


Year X+3
     

 FORMTEXT 
     

 FORMTEXT 
     



     

 FORMTEXT 
     

 FORMTEXT 
     


Year X +4
     

 FORMTEXT 
     

 FORMTEXT 
     



     

 FORMTEXT 
     

 FORMTEXT 
     


What do you forecast employment will be in your business in Scotland over thelast/next 5 years? 
· With SE’s support; and

· Without SE’s support.

Employment with SE’s 



Employment without

support

 



 SE’s support




YearX

     

 FORMTEXT 
     

 FORMTEXT 
     
`


     

 FORMTEXT 
     

 FORMTEXT 
     
Year x+1
     

 FORMTEXT 
     

 FORMTEXT 
     



     

 FORMTEXT 
     

 FORMTEXT 
     


Year X+2
     

 FORMTEXT 
     

 FORMTEXT 
     



     

 FORMTEXT 
     

 FORMTEXT 
     


Year X+3
     

 FORMTEXT 
     

 FORMTEXT 
     



     

 FORMTEXT 
     

 FORMTEXT 
     


Year X+4
     

 FORMTEXT 
     

 FORMTEXT 
     



     

 FORMTEXT 
     

 FORMTEXT 
     


Displacement

The responses to these questions will enable an assessment to be made of the extent to which support to the business will result in there being a negative impact on other businesses operating in Scotland.  This can then be adjusted by the market conditions question.  The questions are suited to both appraisals and evaluations.

Thinking about competition in your main area of business, which of the following statements best describes your business?







All the businesses I compete with are based in Scotland



 FORMCHECKBOX 



The majority of the businesses I compete with are based in Scotland


 FORMCHECKBOX 



Around half of the businesses I compete with are based in Scotland


 FORMCHECKBOX 



A minority of the businesses I compete with are based in Scotland


 FORMCHECKBOX 



None of the businesses I compete with are based in Scotland



 FORMCHECKBOX 



I have no direct competitors






 FORMCHECKBOX 



Approximately what per cent of your main competitors are based in Scotland?

      

 FORMTEXT 
     

 FORMTEXT 
     


Thinking about the market conditions in your main area of business over the next five years, would you say that market conditions have?

Declined strongly



 FORMCHECKBOX 



Declined moderately


 FORMCHECKBOX 




Are about the same


 FORMCHECKBOX 




Improved moderately


 FORMCHECKBOX 




Improved strongly



 FORMCHECKBOX 




Leakage

These questions will enable an assessment to be made of  the extent to which the economic impacts arising from SE’s intervention results in areas outwith Scotland benefitting: that is the extent of leakage.  The question is suitable for both appraisals and evaluations with suitable adjustments to the timescale and to the text.
Of the jobs that will be/have been created or safeguarded with SE’s support how many are based outside Scotland?

     

 FORMTEXT 
     

 FORMTEXT 
     
Time Additionality

These questions will enable an estimate to be made as to the extent to which SE support has resulted in things happening at a different rate than would otherwise be the case.  These questions are only relevant if over the time being evaluated the interviewees have experienced turnover/empoyment growth.  These questions are suitable for backward looking evaluations.
Has the turnover/employment growth in your company been quicker than would otherwise have been the case without SE support?

Yes





 FORMCHECKBOX 
 (Go to next question)
No





 FORMCHECKBOX 




How has turnover/employment growth been affected?

Brought forward by up to a year


 FORMCHECKBOX 



Brought forward by up to two years


 FORMCHECKBOX 




Brought forward by more than two years

 FORMCHECKBOX 




Supply Chain
These questions can be useful in obtaining more information about a company’s supply chain activities.  This could then be used to make adjustments to the Scottish Government’s multipliers if this was felt to be justified.  These questions are suited to appraisals and evaluations.
Thinking about your business’s main suppliers, which of the following statements best describes your business?







All of our supplies come from Scottish-based suppliers



 FORMCHECKBOX 



The majority of our supplies, in value terms, come from Scottish based suppliers

 FORMCHECKBOX 

Around half of our supplies, in valu terms, come from Scottish based-suppliers

 FORMCHECKBOX 



A minority of our supplies, in value terms, come from Scottish based-suppliers

 FORMCHECKBOX 



None of our supplies come from Scottish based-suppliers



 FORMCHECKBOX 



I have no direct competitors






 FORMCHECKBOX 

Approximately what percentage of your supplies (in terms of value) comes from Scottish based suppliers?

      

 FORMTEXT 
     %
Persistence
This question tries to assess the extent to which the impact of SE’s support will last.  The question is suited to appraisals and evaluations, with suitable changes to the text.
You have identified that the support from SE has led to/will lead to benefits in terms of increased {turnover/jobs/skills/wages}.  Over what period of time do you expect these benefits to last?  
<3 months 





 FORMCHECKBOX 

3-6 months





 FORMCHECKBOX 

6-12 months





 FORMCHECKBOX 

1-2 years






 FORMCHECKBOX 

2-3 years






 FORMCHECKBOX 

3-4 years






 FORMCHECKBOX 

4-5 years

 




 FORMCHECKBOX 

5-6 years






 FORMCHECKBOX 

6-10 years





 FORMCHECKBOX 

More than 10 years





 FORMCHECKBOX 

No benefits 





 FORMCHECKBOX 

Don’t Know





 FORMCHECKBOX 

No Response / Refused




 FORMCHECKBOX 

Decay
This question tries to assess the extent to which the benefits of SE support decrease over time.  It is suited to appraisals and evaluations.
How much do you expect the benefits arising from SE’s intervention to decrease (decay) on an annual basis?

Less than 20% 





 FORMCHECKBOX 

21-40%






 FORMCHECKBOX 

41-60%






 FORMCHECKBOX 

61-80%






 FORMCHECKBOX 

81-100%






 FORMCHECKBOX 
 

Don’t Know





 FORMCHECKBOX 

No Response / Refused




 FORMCHECKBOX 

� � HYPERLINK "http://www.evaluationsonline.org.uk/evaluations/Search.do?ui=basic&action=show&id=530" �http://www.evaluationsonline.org.uk/evaluations/Search.do?ui=basic&action=show&id=530�
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� This question is taken from the Department of Business, Innovation and Skills question set. It may however, be too complicated so that it can either be simplified or omitted.





1

